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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

During exercise or other physical works ~ : & (3£ ey QS U g £ (8 Qb2 &5 sl =321 -1
breathing rate per minute increases up to :

<> 50-60 minutes (D) &> 40-50 minutes (C) &+ 3040 minutes (B) &>+ 20-30 minutes, (A)
Water lily is an example of ; * fe Jé (}/ p uf J/ 2
Mesophytes gf‘” b < (D) Halophytes u:’lli:,,i'c' (C) Xerophytes u”"flis“f} (B) Hydrophytes u‘i"/[wjﬂ (A)

It is the union of several axons : et A et |3
Node of Ranvier ss¢/,-375¢ (D) Schwann cells )kc)lf (C) Nerve »/ (B Dendrites u‘%i«;i (A)
Elastic cartilage is found in : b kL L.": o L/’ c._a.\,g.‘ulf L4
Larynx ) u’% (B) Epiglottis J"LfQ':f (A)
Inter vertebral discs o~ 3 £s%1 (D) Brorchiahtubes > J¥3. (C)
Mint and chrysanthemum reproduce by : b N ui':‘.a/;.J & %.)’ J( d)iluf s 20915
Suckers .?/C' (D) Stem tubers J/.:f(f’ () Corms /'*u( (B) Bulbs /" (A)
Part of testes provides nutrients to sperms ' i & ) f‘f/’ % S VI E ] u;,,:’ 6
Seminal vesicles 7"~.‘.:;J‘f (B) Collecting ducts u‘%ﬁ (A)
Cowper's glands },tfj,;f{ (D) Prostate glands J/f;f..:/i‘f/ (C)
Movement of genes from on@ population to another is called : L?Mbd‘/"ﬁd/»(ﬁ’g L}‘J:’L\.f 7
Mutations /"-f‘ (D) @éne flow 567> (C) Recombination kf'o{b (B) Crossing over wl...fif/(A)
Process of translation oceurs in : P e bw Ji ¥ u"l"i/ 8
Ribosomes Jerv¥ls (B) Golgi apparatus Juf:’{ls_fb’
Endoplasmic reticulum u’fo&_JbﬁLg:k! (D) Nucleus n %% (C)
Which one is main producer in aquatic ecosystem : re b c):'/ /gh,; fﬂ ' /"'—/ ;E! 1}!’ 9
Protozoans 93))3{ (D) Phytoplankton u"glgsj‘/ﬁ (C) Bacteria L/:’J.:/‘ (B) Fungi th’ (A)
The current level of urbanization in Pakistan is about ; D & L_/""; d.—f 05y K w’::-;f'buf o L-)L"z’/{; 10
44 52 % (D) % 42% (C) +4 32% (B) #422% (A)
In which year, human genome project was launched : 3 “u’ “U/ C:; _*»E?L; [‘}.{‘? Sy g_,ll/ 1// 11
1990 (D) 1980 (C) 1970 (B) 1960 (A)

It effects on central nervous system and causes : < df L -..a;“.f J c‘f;l 3 d/( ] & ,"/ Jvs d/“' ~112

drowsiness :
Codeine u,jji:‘/ (D) Psilocin /% - (C) Mescaline u‘f@ (B) Morphine /4 (A)
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10 2. Write short answers to any Five (5) questions : - HLL? /‘?L...uir (5) ét = Jf -2
(i) Define cellular respiration. _é ....xv/d J u)/i; /’:" ()
(i) Differentiate between inspiration and expiration. ..Z: Il A oy sl sl u)Ju’Ji (i)
(iii) How do pleural membranes protect lungs? o df d/ = J u.u/«r.':’v // Jok iii)
(iv) What is meant by thermoregulation? e sy V= -;r‘/ (iv)
(V) What is lithotripsy? T l/ o‘--‘m"
(vi) Distinguish between dendrites and axons. ..£ u/ U xl/ sl u"by; (VI)
(vii) Define reflex arc. -_’ﬁ.i ;..g/’ J ol N L, (vii)
(viii) Write the cause and two symptoms of hyperthyroidism. _’ﬁa :«le 2 20 o J r}ii’lzélﬁff} (viii)
10 3. Write short answers to any Five (5) questions : 1 & ....Ll! ;’Zuﬂlr (5) ét T Jf -3
(i) write differences between compact bone and spongy bone. “c:. d/’ U/ U~ @il ol u:'.:.f“r (i)
(i) What is joint? Write its types. (L—’i d, J! e Y eLiz (i)
(iii) Describe the process of parthenogenesis in honey bee. -éubd’f 3 J"‘-"‘?z:"’l. L& d’( d/ M (iii)
(iv) Differentiate between regeneration and binary fission. -é u/ LA u" d/'L 92 u) =28, (iv)
)

(v) Differentiate between homozygous genotype S OPRL N2 AN LY Al U Sty (v
and heterozygous genotype.

(vi) Define monohybrid and dihybrid cross. 2 f§ oS b8y udp‘r (vi)

(vii) Differentiate between breeders and cultivars. r-= J/ U/ o JJ’!UJJ-{ sl sk (Vii)

(viii) Write the sources of variations. -é /f CJ/Lu ...,d" (viii)

10 4. Write short answers to any FIVE (5) questions : éugli/"’ﬁuﬂlr {5) ét & Jf -4

(i) Differentiate between population and cdmmunity. -i 3/ J)J, 2! u’J;’L 0]

(i) Define biosphere. _g*_': ._.g;'/" J AL (i)

(iii) Differentiate between primary and secondary consumers. né IS A }/;j)”/ SiiL o d/b__: (iii)

(iv) What is meant by bielogical nitrogen fixation? fe sl b V < cripnnsd (P Jﬁ’:’rt (IV)

(v) Write thé name of two enzymes used in genetic -éf EL/J/I»A.. l:d._rdlew'fufjf“ﬁ
engineering.

(vi) Whatfis fermenter? , fe bw VP (i)
(vii) What's the difference between pharmacology and pharmacy? ""LJ/ WU GG sl GG (Vi)
(viil) What is the use of vaccines? Write example. _&idl"'/ fe Je1 S ¥ /(..f, (viii)
( PART-1II (9 & )
Note : Attempt any TWO questions. ez Lety ne § 1 ud
1,2,1 - AL A WSSt S S0 () -5

5. (a) What is the functional unit of kidney? Describe its structure with labelled diagram.
5 ool It SLF L L JeSuFSumt il ()
(b) Explain antagonism in muscle action with biceps and triceps as example. "
1,1,1,1 6. (a) Explain pituitary gland in detai. 2 P N A
1,1,2,1 E e I P L pungE S S S Bk 3 (L)
(b) Draw and label structure of a dicot seed and explain its different parts in detail.
4 7. (a) Write down four achievements of genetic engineering. _JULV.;_QJK&LJ/I..@ () 7

5 (b) Write mode of action of vaccine. -g,fug.d )’b’é./?b’(u"{: (<)
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